Let’s work with a made-up example. Suppose that we measure the class attendance and
the outdoor temperature for the 38 lectures of psych 315 this quarter.

Here are some statistics for our made up data: (1) temperatures (x) are distributed with a
mean of 60 and a standard deviation of 8 degrees, (2) attendance (y) is distributed with a

mean of 65 and a standard deviation of 10 students, and (3) temperature and attendance
correlates with a value of -0.6.
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Homoscedasticity
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Example 1: What is the expected attendance when the outdoor temperature is 70 degrees?
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Example 2: What is the temperature for which the expected attendance is 607
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Example 3: On a day that the outdoor temperature is 66.7, what is the probability that
80 or more students will show up for class?
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